Three Decimal Places

1. 23.421

2. 16.004
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4. Yasmin is incorrect because how large a number is depends on the value of the digits
that have been used, not the amount of digits after the decimal point. For example: 5.22
is greater than 5.002 because it has 2 tenths, whereas 5.002 has no tenths.

5. 7.380 will not fit into the table. Although it is a number that is greater than 7.3, it does
not fit the rest of the criteria. The number needs to have more than seven tenths or fewer
than five hundredths.

>7.3 <73
> 7 in tenths 5.929
column
< 5 hundredths 7.503 6.229

6. Various answers, for example: six tenths, ten hundredths and three thousandths; five
tenths, twenty hundredths and three thousandths; six tenths, seven hundredths and thirty -
three thousandths; four tenths, thirty hundredths and three thousandyths; five tenths,
twelve hundredths and eighty-three thousandths.
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